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The figrnes in the rnargin indicate futl marks

for the {uestions.

Answer any .fiue questions.

1. Briefly discuss about non-reture valve, feed check

valve and safety valve, mentioning their operational

stratery and diagram. I4

2. (i) How pastetrizer is designed based on heat

exchanger ?

(ii) In milk processing dtrdng homo genrzation

how valves are operated to reduce fat globule

size ? Explaiil with diqgrarn. 4+10:14
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3. Write short notes (any four) :

"(a) Food machinery

(b) Lubrication in machinery

(c) Flanged pipe joint

(d) Hydraulic pipe joint

(e) Socket and spigot cotter joint

(f) Equipment specification for processing

horticulttne crops.

(i) Choo'se the correct answer : 1x5-5

(a) Magretite is an iron ore I iron alloy.

(b) Elasticity is a physical property I
mechanical propergr

(c) Graphite is a good I bad conductor of
heat.

Copper / silver shows ,higher thermal

conductivtty.

Ferrous metals / non-ferrous metals have

the iron as their.main constituent.
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(ii) Write about the various physical properties

of metals. 4

(iii) What are t[e factors for selection a material' for engineering purposes ? 3

(rv) What are the melting point of copper and

aluminfurm ? 2

5. (i) Write short notes (any three) : 4x3:12

(a) Cast iron
I

O) Hardening of metal

(c) Electropl$ing

(d) Wrought iron

(e) Copper and its alloy
,'

(ii) What is.a steel ?

6. (i) What is corrosion ? What are the different

tlpes of corrosion ? Write in brief.- 1+9=10

(ir) \Mrite any one method of corrosion prwention
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7. (i) ,.Slhat is apc1tive displacementpump ? Wrib
about the different types of positive
displacement pumps.

(ii)' Writd about any five meehanical properties..

of metal. Ho\f,i does the mechanical property
'r'\:.

effect the selection of metatrs for machinery.
r-- ^ ftmakino ? 5+2=7.---D -, . -l
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